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(m) (m) (kN/ ) EEBf(m) (m) (kN/ ) (m) (m) (kN/ i) (m) (m) (kN/ )
7 100kN/mM%#BZ % - -~ -|3mEBZD -~ - -| 100kN/m#%#8% % - -~ -|3mEBZD -~ -
s 1.00 | 0.00 ~ 707 89.76 | ThLS | 000 ~ 000 1.72 8.68 st 1.00 | 6.00 ~ 890 89.76 | =nS | 5,00 ~ 890 1.72 8.68
2 100kN/m##8%% | 1.00 | 000 ~ 096 114.36 |3m%E{BZ% -~ -| 100kN/M%#8Z5 | 1.00 | 11.05 ~ 1450 114.36 |3mEBZD -~
s 1.00 | 096 ~ 874 100.00 | #=nst | 000 ~ 874 | 2.04 10.33 st 1.00 | 6.00 ~ 1105 100.00 | =nhst | 5.00 ~ 1450 2.04 10.33
3 100kN/mM%E#BZ5 | 1.00 | 000 ~ 0.39 105.74 |3m%EHBZ 5 ~ -] 100kN/ %825 | 1.00 | 10568 ~ 11.60| 105 74 |3m%E#BZ% -~
s 1.00 | 039 ~ 817 100.00 | =St | 000 ~ 817\ 2.17 10.99 st 1.00 | 6.00 ~ 1053 100.00 | =nhst | 6.00 ~ 1160| 2.17 10.99
4 100kN/mM%#BZ 5 ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEBZD -~
s 1.00 | ooo ~ 777 99.81 | #nS | 000 ~ 7.77| 2.17 10.98 st 1.00 | 6.00 ~ 1050 99.81 | #hL4 | 6,00 ~ 1050 2.17 10.98
5 100kN/m%EBZ5| 1.00 000 ~ 026 10382 |3mEBZD ~ -] 100kN/ %8825 | 1.00 | 11.00 ~ 11.80| 10382 |3m%EiBz% -~
s 1.00 | 0.26 ~ 804 100.00 | #nlst | 0.00 ~ 804 | 2.05 10.56 st 1.00 | 6.00 ~ 1100 100.00 | =hst | 6.00 ~ 1180 2.06 10.56
P 100kN/mM%BZ 5 ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEBZD -~
s 1.00 | 0.00 ~ 721 91.76 | =hLS | 000 ~ 000 1.72 871 st 1.00 | 6.00 ~ 9.20 91.76 | =h4 | 5.00 ~ 920 1.72 8.71
- 100kN/mM%#BZ 5 ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEBZD -~
s 1.00 | 0.00 ~ 6.26 7868 | ThLSY 000 ~ 000|172 8.67 st 1.00 | 6.00 ~ 7.30 7868 | ThLSY | 5,00 ~ 730 1.72 867
P 100kN/mM%E#BZ 5 ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEBZD -~
s 1.00 | 0.00 ~ 7.09 90.05 | =hs | 0oo ~ 000|177 8.96 st 1.00 | 5.00 ~ 8.90 90.05 | =hs | 5.00 ~ 890 | 1.77 8.96
9 100kN/mM%#BZ % ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEBZD -~
s 1.00 | 0.00 ~ 7.09 90.07 | #nS | 000 ~ 0.00| 1.77 8.93 st 1.00 | 5.00 ~ 8.90 90.07 | =hL4 | 5,00 ~ 890 | 1.77 8.93
10 100kN/mM%#BZ 5 ~ -|3mEBZD ~ -] 100kN/m#%#8% % ~ -|3mEBZD -~
s 1.00 | 0.00 ~ 6.94 87.88 | =St | 000 ~ 694 | 1.79 9.07 st 1.00 | 6.00 ~ 8.60 87.88 | #ns | .00 ~ 860\ 1.79 9.07
11 100kN/mM%BZ 5 ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEBZD -~
s 1.00 | 0.00 ~ 597 74.80 | ThSY | 000 ~ 0.00| 1.57 7.91 st 1.00 | 6.00 ~ 7.50 74.80 | TNLSY | 6.00 ~ 7.50| 1.67 7.91
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ FhLst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3ImERBAD ~
zhst ~ Fhst ~ Fhst ~ st ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhest ~ st ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhLst ~ ZFhst ~ FhLst ~ st ~
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